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CLINICAL COURSE - II
Alternative Dispute Resolution Systems

o

Duration ; 2 Hours Max. Marks : 60

Instructions : 1. Answer Question No. 11 and any five of the
remaining.

2. Question No. 11 carries 15 marks and remaining
question carries 9 marks.

3. Answer should be written either in English or
Kannada completely.

Q. No. 1. Discuss in detail, the suitability of ADR’s to different types of
disputes. : Marks : 9
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Q. No. 2. Advantages and disadvantages of ADR method. Marks : 9
TWOIRFOL T ARFD TRICH YIBRY T
STRReEn.

Q. No. 3. Explain the procedure for appointment of Arbitrator. Marks : 9
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Q. No. 4. Discuss in detail the different kinds of conciliation. Marks : 9
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Q. No. 5. Discuss in detail the different styles of Negotiation. Marks : 9
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Q. No. 6. Explain in detail the difference between voluntary and compulsory
conciliation under 1.D. Act 1947,
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Q. No. 7.

Q. No. 8.

Q. No. 9.

Q. No. 10.
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Marks : 9
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What is mediation ? Explain the different stages of

med

iation.

Marks : 9
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Explain the salient features of the Arbitration and Conciliation

Act,
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Marks : 9
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ain the advantages of Mediation.
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Write short notes on any two of the following :

NS cdRFTente STWE OO LT WOD:!

(a)

(b)

(c)

Appointment of mediator.

Arbitration agreement.
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Negotiation.
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Q. No. 11. Solve any two of the following problems : Marks : 7¥ex2=15
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(a) A dispute is raised between 'A’ and ‘B’ and settled
through conciliation, but ‘B’ refuse to sign the settlement
agreement. Advice.
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(b) X' caused simple hurt to 'Y’ and ‘X' wants to settle the
dispute. Advice.
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(c) An Arbitration Tribunal passes an award and orders to
pay the cost of the arbitration in equal shares. But one
of the party refuses to pay. Decide.
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